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Moo M - e
oo e e oo e e

77777717777

m x K-100 x (HxH-hxh) ¢

Q = InR - Z In(Zn)+ n
go =Qo + n
K ( cm/sec )
H (m)
h (m
R (m)
n C )
on P (m)
Qo : ( m3/min ) Qo = go X n
qo : ( m3/min )



DL = (WL2 - WL1 ) x 3 + WLL

K=1x 10°%cm/sec

R=3000x (H-h)x v (K= 100 )

X I =X
I Y YY)



WL2

o e M ....... M ........
......... T b
Wi

/7
_ < H _ Qo + 60 x In R -2 In(Zn)+
ho =V Hx H & nxr|‘<+10r(‘)””
ho : (m)
H : (m)
Qo : ( m3/min ) Qo = go x n
go : ( m3/min )
R : (m)
Zn : (m)
no: « )
K : ( cm/sec )
se : (m)



N
-
=
kel
-
R
w
(2]
-
Fs = qw +
Fs:
qw:
go:

—= i
—_— T, -———

S TR 1 A
e

qw:
rw:
Ls:
K :
Se:

qo

wx Lsx v (K= 100) + 15 x 60

( m3/min )
(m)
(m)
( cm/sec )
(m
Ld = DL
@ 300mm @ 400mm
® 500mm @ 600mm
1 1.2m 0.6m

( m3/min )
( m3/min )




WL2

DL

//

WL1 GL-m 2.00
WL2 GL-m 11.00
DL GL-m 30.00
K cm/sec 1.00E-02 1x 1073cm/sec
Ld GL-m 25.00
d m 0.60
————— m 1.00
Fs | -=---- 1.50 1.0
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Deepwell Xd(m) Yd(m)
DW1 10.00 54.00
DW2 44.00 54.00
DW3 44.00 34.50
DW4 74.00 34.50
DW5 74.00 10.00
DW6 42.00 10.00
DW7 10.00 10.00
DW8 10.00 32.00

*

S| k] k| K| k| k| K| k| k| K| k| k| K| k| | k| k| | k| k| k| k| ¥| k| k| ¥| k| K| *| *| *




Point Xp(m) Yp(m)
A 12.50 51.50
B 71.50 32.00
C 71.50 12.50
D 12.50 12.50
E 27.00 32.00
F 57.00 22.00
*

Point Xp(m) Yp(m)
a -5.00 32.00
b 0.00 32.00
C 5.00 32.00
d 10.00 32.00
€ 15.00 32.00
f 20.00 32.00
g 25.00 32.00
h 30.00 32.00
I 35.00 32.00
i 40.00 32.00
Kk 45.00 32.00
| 50.00 32.00
m 55.00 32.00
n 60.00 32.00
0 65.00 32.00
p 70.00 32.00
q 75.00 32.00
r 80.00 32.00
s 85.00 32.00
t 90.00 32.00




H(Cm)

H =DL - WL1
= 30.00 - 2.00
= 28.00 m
h(m)
h =DL - WL2
= 30.00 - 11.00
= 19.00 m
R(m)
R =3000x (H-h)x v (K= 100)  --—omo-
= 3000 x ( 28.00 - 19.00 ) x v ( 1.00E-02 + 100 )
= 270.00 m
/
ANy
WL1: (m)
WL2: (m)
DL : (m)
H : (m)
h (m)
R (m)



Deepwell

Z(m)
D

A B C E F *
DW1 3.54 65.32 74.19 41.58 27.80 56.86 *
DW2 31.60 35.22 49.78 52.10 27.80 34.54 *
DW3 35.79 27.61 35.22 38.42 17.18 18.03 *
DW4 63.81 3.54 22.14 65.32 47.07 21.10 *
DW5 74.19 22.14 3.54 61.55 51.89 20.81 *
DW6 50.92 36.80 29.61 29.61 26.63 19.21 *
DW7 41.58 65.32 61.55 3.54 27.80 48.51 *
DW8 19.66 61.50 64.52 19.66 17.00 48.05 *
* * * * * * * *
* * * * * * * *
* * * * * * * *
* * * * * * * *
* * * * * * * *
* * * * * * * *
* * * * * * * *
* * * * * * * *
* * * * * * * *
* * * * * * * *
* * * * * * * *
* * * * * * * *
* * * * * * * *
* * * * * * * *
* * * * * * * *
* * * * * * * *
* * * * * * * *
* * * * * * * *
* * * * * * * *
* * * * * * * *
* * * * * * * *
* * * * * * * *
* * * * * * * *
* * * * * * * *
* * * * * * * *
* * * * * * * *
* * * * * * * *
* * * * * * * *
* * * * * * * *
* * * * * * * *
* * * * * * * *
* * * * * * * *
Z=v (Xd-Xp)*+(Vvd-vYp)?
Z (m)
Xd Yd (m)
Xp Yp (m)
Y
P(Xp.Yp)
X




Deepwell

In Z

A B C D E F
Dwl 1.2641 4.1793 4.3066 3.7276 3.3250 4.0406
Dw2 3.4532 3.5616 3.9076 3.9532 3.3250 3.5421
DW3 3.57717 3.3182 3.5616 3.6486 2.8437 2.8920
Dw4 4.1559 1.2641 3.0974 4.1793 3.8516 3.0493
DW5 4.3066 3.0974 1.2641 4.1198 3.9491 3.0354
DW6 3.9303 3.6055 3.3881 3.3881 3.2820 2.9554
DW7 3.7276 4.1793 4.1198 1.2641 3.3250 3.8818
DW8 2.9786 4.1190 4.1670 2.9786 2.8332 3.8722
* * * * * * *

K|k k| k| k| k| k| k| k| k| K| k| k| k| k| k| K| k| k| ¥| k| k| ¥| k| k| ¥| k| k| *| *| *

K| k| oR| K| k| | K| k| k| K| k| k| k| k| k| k| K| k| k| ¥| k| k| ¥| k| k| ¥| k| | *| *| *

K| k| ob| K| k| | K| k| k| K| k| k| | k| k| R| K| k| k| ¥| k| k| ¥| k| k| ¥| k| | *| *| *

K| k| ob| K| k| | K| k| k| K| k| k| k| k| k| k| K| k| k| ¥| k| | ¥| k| k| ¥| k| | *| *| *

K|k ob| K| k| | K| k| k| K| k| k| k| k| | k| K| k| k| ¥| k| k| ¥| k| k| ¥| k| | *| *| *

K| k| ob| K| k| | K| k| k| K| k| k| k| k| k| k| K| k| k| ¥| k| k| ¥| k| k| ¥| k| | *| *| *

K| k| ob| K| k| | K| k| | K| k| k| | k| | k| K| k| k| ¥| k| k| ¥| k| k| ¥| k| | ¥| *| *

| k| k| k] k| k] k| k] k| #] k| ] k| k| k| k| k| #| #] k| #] #| ] k| ] #| #| #| #| #]| #| #] #| #] #| #] #| ]| #| #] *




A | B | C | D | E | F | *
K(cm/sec) 1.00E-02
H(m) 28.00
h(m) 19.00
R(m) 270.00
> Inz 27.3940 27.3244 27.8122 27.2593 26.7346 27.2688 *
n( ) 8 8 8 8 8 8 *
1/nZ InZ 3.4243 3.4156 3.4765 3.4074 3.3418 3.4086 *
On(m3/min) 3.667 3.653 3.758 3.639 3.533 3.641 *
gn(m3/min) 0.458 0.457 0.470 0.455 0.442 0.455 *
Qo(m3/min) On max = 3.758 C
go(m3/min) gn _max = 0.470 C
_ 1t x K100 x ((HxH - hxh)
Qn = InR - Z In(Zn)+ n x 60
gn =Qn + n
K ( cm/sec )
H (m)
h (m)
R : (m)
> Inz :
n : « )
Qn : ( m3/min )
gn : ( m3/min )
Qo : ( m3/min ) Qo = Qn max
go : ( m3/min ) go =Q = n
C
Qo 3.758 ( m3/min )

go 0.470 ( m3/min )




Z(m)

*

*

*

*

*

*

*

DW8

22.00
40.50

34.09

64.05
67.68

38.83
22.00

0.30

DW7

44.00

55.61

41.91

68.53
64.00
32.00

0.30
22.00

DW6

54.41

44.05

24.58
40.30

32.00

0.30
32.00
38.83

DW5

77.67
53.25
38.73
24.50

0.30
32.00

64.00
67.68

Dw4

66.90
35.78
30.00

0.30
24.50

40.30

68.53
64.05

DW3

39.20

19.50

0.30
30.00
38.73

24.58
41.91

34.09

Dw2

34.00

0.30
19.50
35.78
53.25

44.05

55.61

40.50

Dw1

0.30
34.00

39.20
66.90
77.67

54.41

44.00

22.00

Deepwell

DW1
DW2
DW3

DW4
DW5
DW6
DW7
Dw8

(Xd - Xp)2+ (Yd-VYp)?

Z=v

YY)
e £ &
o o/ o/

~
o
>
(=8
<
o’
=
()

Xd Yd :
Xp Yp :



InZ

*

Dw8

3.09
3.70
3.53
4.16
4.21
3.66
3.09
-1.20

DW7

3.78
4.02
3.74
4.23
4.16
3.47
-1.20

3.09

DW6

4.00
3.79
3.20
3.70
3.47
-1.20

3.47
3.66

DWS

4.35
3.98
3.66
3.20
-1.20

3.47
4.16
4.21

Dw4

4.20
3.58
3.40
-1.20

3.20
3.70
4.23
4.16

DW3

3.67
2.97
-1.20

3.40
3.66
3.20
3.74
3.53

DW2

3.53
-1.20

2.97
3.58
3.98
3.79
4.02
3.70

Dwl

-1.20

3.53
3.67
4.20
4.35
4.00
3.78
3.09

Deepwell

DW1
Dw2
DW3

Dw4
DW5
DW6
DW7
DW8




DW1 w2 | Dow3 | Dw4 DW5 DW6 DW7 DW8 * | *
K(cm/sec) 1.00E-02
H(m) 28.00
R(m) 270.00
> Inz 25.4185 | 24.3502 | 22.9593 | 25.2599 | 25.8182 | 24.0667 | 25.2770 | 24.2420 * *
n(C ) 8 8 8 8 8 8 8 8 * *
1/n% InZ 3.1773 3.0438 2.8699 3.1575 3.2273 3.0083 3.1596 3.0303 * *
DL(m) 30.00
ho(m) 17.36 16.57 15.49 17.24 17.64 16.36 17.26 16.49 * *
WL3(GL-m) 12.64 13.43 14.51 12.76 12.36 13.64 12.74 13.51 * *

* * | * | * * * * * * | *
K(cm/sec) 1.00E-02
H(m) 28.00
R(m) 270.00
Z Inz * * * * * * * * * *
n( ) * * * * * * * * * *
1/nz InZ * * * * * * * * * *
DL(m) 30.00
ho(m) * * * * * * * * * *
WL3(GL_m) * * * * * * * * * *
ho min 15.49 m
WL3 max GL- 14.51 m
- _ __Qo= 60x In R -2 In(Zn)+ n
ho =V hx H T x K< 100
WL3 = DL - ho

ho : (m)

H : (m)

Qo : ( m3/min ) Qo =qo x n

go : ( m3/min )

R : (m)

Zn : (m)

n « )

K : ( cm/sec )

DL : ( GL-m )

WL3: ( GL-m)




Ls

qw

Fs =

Fs:
qw:
go:

ho
Ls (m)
Ld - (h -ho) - W2
25.00 - ( 19.00 - 15.49 ) - 11.00

10.49 m

gw ( m3/min )

2x M x rwx Lsx v (K=+ 100) + 15 x 60

2x m x 0.30 x 10.49 x v ( 1.00E-02 =

0.791 m3/min

quw = qo

0.791 + 0.470

1.68 1.50 ----

( m3/min )
( m3/min )

100 ) =+

15 x 60



Z(m)

Deepwell =
a b C d e T g h | i k | m n 0 p q r S t

DW1 26.63 24.17 22.56 22.00 22.56 24.17 26.63 29.73 33.30 37.20 41.34 45.65 50.09 54.63 59.24 63.91 68.62 73.38 78.16 82.97
DW2 53.71 49.19 44.78 40.50 36.40 32.56 29.07 26.08 23.77 22.36 22.02 22.80 24.60 27.20 30.41 34.06 38.01 42.19 46.53 50.99
DW3 49.06 44.07 39.08 34.09 29.11 24.13 19.16 14.22 9.34 4.72 2.69 6.50 11.28 16.19 21.15 26.12 31.10 36.09 41.08 46.07
DW4 79.04 74.04 69.05 64.05 59.05 54.06 49.06 44.07 39.08 34.09 29.11 24.13 19.16 14.22 9.34 4.72 2.69 6.50 11.28 16.19
DW5 82.01 77.20 72.42 67.68 62.97 58.31 53.71 49.19 44.78 40.50 36.40 32.56 29.07 26.08 23.77 22.36 22.02 22.80 24.60 27.20
DW6 51.89 47.41 43.05 38.83 34.83 31.11 27.80 25.06 23.09 22.09 22.20 23.41 25.55 28.43 31.83 35.61 39.66 43.91 48.30 52.80
DW7 26.63 24.17 22.56 22.00 22.56 24.17 26.63 29.73 33.30 37.20 41.34 45.65 50.09 54.63 59.24 63.91 68.62 73.38 78.16 82.97
DW8 15.00 10.00 5.00 0.30 5.00 10.00 15.00 20.00 25.00 30.00 35.00 40.00 45.00 50.00 55.00 60.00 65.00 70.00 75.00 80.00
*

S| k] k| k| k| R| K| k| k| K] k| k| X| k| k| ¥| k| oF| ¥| k| | ¥| k| k| ¥| k| k| ¥| *| *#| *

S| k| k| K| k| R| K| k| k| K] k| k| X| k| k| X k| k| K| k| ob| K| k| k| ¥| k| k| ¥| k| k| *| *

S| k| k| K| k| R| K| k| R| K] k| k| X| k| k| X k| k| K| k| k| K| k| k| ¥| k| k| ¥| k| k| *| *

S| k| k| k| k| R| K| k| k| K] k| k| X| k| b| ¥ k| k| K| k| oF| K| k| k| ¥| k| k| ¥| k| k| *| *

S| k| k| K| k| R| K| k| R| K] k| k| X| k| k| X k| k| K| k| k| K| k| k| ¥| k| k| ¥| k| k| *| *

S| k| k| k| k| R| K| k| k| K] k| k| X| k| k| X k| k| K| k| k| K| k| | ¥| k| k| ¥| k| k| *| *

S| k| k| k| k| R| K| k| k| K] k| k| X| k| k| X| k| k| K| k| ob| K| k| k| ¥| k| k| ¥| k| k| *| *

S| k| k| K| k| R| K| k| k| K] k| k| X| k| k| X k| k| K| k| oF| ¥| k| k| ¥| k| k| ¥| k| k| ¥| *

S| k| k| k| k| R| K| k| k| K] k| k| X k| k| X k| k| K| k| ob| K| k| k| ¥| k| k| ¥| k| k| ¥| *

S| k| k| k| k| R| K| k| k| K] k| k| X| k| k| X k| k| K| k| k| K| k| | ¥| k| k| ¥| k| k| *| *

S| k| k| k| k| R| K| k| k| K] k| k| K| k| k| X k| k| K| k| ob| K| k| k| ¥| k| k| ¥| k| k| *| *

S| k| k| k| k| R| K| k| k| K] k| k| X| k| k| X k| k| K| k| oF| K| k| k| ¥| k| k| ¥| k| k| *| *

S| k| k| k| k| R| K| k| H| K] k| k| X| k| k| X| k| k| K| k| oF| K| k| | ¥| k| k| ¥| k| k| *| *

S| k| k| k| k| R| K| k| H| K] k| k| X k| k| X k| k| K| k| ob| K| k| k| ¥| k| k| ¥| k| k| *| *

S| k| k| k| k| R| K| k| H| K] k| k| X| k| k| X k| k| K| k| k| K| k| k| ¥| k| k| ¥| k| k| *¥| *

S| k| k| k| k| R| K| k| k| K] k| k| X| k| k| X| k| k| K| k| ob| K| k| k| ¥| k| k| ¥| k| k| *| *

S| k| k| K| k| R| K| k| H| K] k| k| X| k| k| ¥ k| k| K| k| oF| K| k| k| ¥| k| k| ¥| k| k| *| *

S| k| k| k| k| R| K| k| H| K] k| k| X k| k| X k| k| K| k| k| K| k| | ¥| k| k| ¥| k| k| ¥| *

S| k| k| k| k| R| K| k| R| K] k| k| X| k| k| X k| k| K| k| ob| K| k| k| ¥| k| k| ¥| k| k| *| *

S| k| k| k| k| R| K| k| k| K] k| k| X| k| k| X k| k| K| k| oF| K| k| k| ¥| k| k| ¥| k| k| *| *

S| k| k| K| k| R| K| k| k| K] k| k| X| k| k| X k| k| K| k| ob| X| k| k| ¥| k| k| ¥| k| k| ¥| *

z
Xd Yd
xpYp
Y

DW(Xd, Yd)

(Xd - Xp)2+ (Yd-VYp)?

YY)
s 3 3
o/ o/ o/




Deepwell

InZ

a b C d e T g h | i k | m n 0 p q r S t
w1 3.2820 3.1851 3.1162 3.0910 3.1162 3.1851 3.2820 3.3922 3.5056 3.6163 3.7218 3.8210 3.9138 4.0006 4.0816 4.1575 4.2286 4.2957 4.3588 4.4185
Dw2 3.9836 3.8957 3.8018 3.7013 3.5946 3.4831 3.3697 3.2612 3.1684 3.1073 3.0920 3.1268 3.2027 3.3032 3.4148 3.5281 3.6378 3.7422 3.8401 3.9316
DW3 3.8930 3.7858 3.6656 3.5290 3.3711 3.1835 2.9528 2.6546 2.2343 1.5518 0.9895 1.8718 2.4230 2.7844 3.0516 3.2627 3.4372 3.5860 3.7155 3.8302
DW4 4.3700 4.3046 4.2348 4.1597 4.0784 3.9901 3.8930 3.7858 3.6656 3.5290 3.3711 3.1835 2.9528 2.6546 2.2343 1.5518 0.9895 1.8718 2.4230 2.7844
DW5 4.4068 4.3464 4.2825 4.2148 4.1427 4.0658 3.9836 3.8957 3.8018 3.7013 3.5946 3.4831 3.3697 3.2612 3.1684 3.1073 3.0920 3.1268 3.2027 3.3032
DW6 3.9491 3.8588 3.7624 3.6592 3.5505 3.4375 3.3250 3.2213 3.1394 3.0951 3.1001 3.1532 3.2406 3.3474 3.4604 3.5726 3.6803 3.7821 3.8774 3.9665
DW7 3.2820 3.1851 3.1162 3.0910 3.1162 3.1851 3.2820 3.3922 3.5056 3.6163 3.7218 3.8210 3.9138 4.0006 4.0816 4.1575 4.2286 4.2957 4.3588 4.4185
Dw8 2.7081 2.3026 1.6094 | -1.2040 1.6094 2.3026 2.7081 2.9957 3.2189 3.4012 3.5553 3.6889 3.8067 3.9120 4.0073 4.0943 4.1744 4.2485 4.3175 4.3820
* * * * * * * * * * * * * * * * * * * * *
* * * * * * * * * * * * * * * * * * * * *
* * * * * * * * * * * * * * * * * * * * *
* * * * * * * * * * * * * * * * * * * * *
* * * * * * * * * * * * * * * * * * * * *
* * * * * * * * * * * * * * * * * * * * *
* * * * * * * * * * * * * * * * * * * * *
* * * * * * * * * * * * * * * * * * * * *
* * * * * * * * * * * * * * * * * * * * *
* * * * * * * * * * * * * * * * * * * * *
* * * * * * * * * * * * * * * * * * * * *
* * * * * * * * * * * * * * * * * * * * *
* * * * * * * * * * * * * * * * * * * * *
* * * * * * * * * * * * * * * * * * * * *
* * * * * * * * * * * * * * * * * * * * *
* * * * * * * * * * * * * * * * * * * * *
* * * * * * * * * * * * * * * * * * * * *
* * * * * * * * * * * * * * * * * * * * *
* * * * * * * * * * * * * * * * * * * * *
* * * * * * * * * * * * * * * * * * * * *
* * * * * * * * * * * * * * * * * * * * *
* * * * * * * * * * * * * * * * * * * * *
* * * * * * * * * * * * * * * * * * * * *
* * * * * * * * * * * * * * * * * * * * *
* * * * * * * * * * * * * * * * * * * * *
* * * * * * * * * * * * * * * * * * * * *
* * * * * * * * * * * * * * * * * * * * *
* * * * * * * * * * * * * * * * * * * * *
* * * * * * * * * * * * * * * * * * * * *
* * * * * * * * * * * * * * * * * * * * *
* * * * * * * * * * * * * * * * * * * * *
* * * * * * * * * * * * * * * * * * * * *
a | b [ ¢ | d | e [ £ [ g [ n | v | j [ k [ ¥ | m n o [ p [ q | r s [t
K(cm/sec) 1.00E-02
H(m) 28.00
h(m) 19.00
R(m) 270.00
> InZ 29.8746 | 28.8641 [ 27.5889 | 24.2420 | 26.5791 | 26.8328 | 26.7962 | 26.5987 | 26.2396 | 25.6183 | 25.1462 | 26.1493 | 26.8231 | 27.2640 | 27.5000 | 27.4318 | 27.4684 | 28.9488 | 30.0938 | 31.0349
n( ) 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8
1/nZ InZ 3.7343 3.6080 3.4486 3.0303 3.3224 3.3541 3.3495 3.3248 3.2800 3.2023 3.1433 3.2687 3.3529 3.4080 3.4375 3.4290 3.4336 3.6186 3.7617 3.8794
ho(m) 20.31 19.68 18.85 16.49 18.17 18.35 18.32 18.19 17.94 17.50 17.16 17.88 18.34 18.64 18.79 18.75 18.77 19.73 20.44 21.01
DL(GL-m) 30.00
WL4(GL-m) 969 ] 10.32 ] 11.15] 1351 11.83] 11.65] 11.68] 11.81 ] 12.06 | 12.50 [ 12.84 [ 12,12 ] 11.66 ] 11.36 | 11.21 | 11.25 ] 11.23 [ 10.27 | 9.56 | 8.99
_ _ _ Qo+ 60x In R -5 In(Zn)+ n ho : (m) Zn : (m)
ho =V hx H m x K+ 100 H : (m) n :
Qo : ( m3/min ) K : ( cm/sec )
WL4 = DL - ho qo : ( m3/min) WL4: ( GL-m)
R : (m) DL : ( GL-m )






